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10-2 Angles and Arc

Terminology | Definition Diagram/Examples

Central Angle e anangle with a vertex in the ( QCVL'(TCV‘ of the circle. S
e |[ts sides contain two Y\E ‘él it of the circle. R

e The sum of the measures of the central angles of a circle with no

interior points in common is %(OO °,

o

[ MZRMS + MZSMT + mZTMV + mZVMR = 2@ 2 ] v T

the shortest arc connecting two endpoints on a circle.

Minor Arc ‘
e The measure of a minor arc s less than °and equal to
the m/asgre of |t}glated Cewar\ angle. S
xRS , ST and TV ) R
* thelongest arc connecting two endpoints on a circle.
Major Arc

The measure of a major arc is greater than __\@_ﬁ and equal to
360 mmus the mﬁ of the minQr arc with the same endpoints.

(EX: P\ST , and VST ) v T

e anarc with endpoints that lie on a diameter.

Semicircle e Themeasyre of a semicircle is _\@o.
(EX: 6T\/ and VRS )

\¢

CongruentArcs | o arcsinthe Samc or = circles that have the same If ZRMV = 4VMT then

measure. E Vr

-

e Inthesamecircleor Z=  circles, two minor arcs are congruent

N\ N
if and only if their O@Wb’gz \ angles are congruent. If g’v = V T , then

ZRMV = 2VMT

Adjacent Arcs e arcsina circle that have OY\ lM j— point in common. S
N

RS 25T ﬁ%v@ R

Arc Addition It’s just like the 56& & 2: addition postulates!

Postulate
e The measure of an arc formed by 2 a&um arcs is
the SS Zm of the measures of the 2 arcs. v T

> ~ ~ N
(EX:mP\V +mVT =mRT; m§?+m ‘y =m{Tv;

7~ “o
mSTV+m</T2=m TP\




10-2 Angles & Arcs Skills Practice

AC and EB are diameters of ©Q. Identify each arc as
a mqjor arc, minor arc, or semicircle of the circle.
Then find its measure.

LmiE =50 minor M | 2. maB =8 miny 4
o PUNOL . O
3. mﬁ)—é'—' l% woéj%a' 4.17@(55[% JW}O

5. n@ = L&/o Semu © 6. m§6 =lCU° anOf M

FH and EG are diameters of ®P. Find each measure.

7.mEF = ’b@a ]. mﬁﬁ = 520 el
9. mFG * U—H-o 10. mDHG 3[280 (qu.%) i
11. mD% = 2&20 (92 + %+ Iql) 12, mf)—éﬁ ‘%‘ C%U-—-BZ)

ALGEBRA In OR, AC and EB are diameters. Find each

measure.

" e ©

1. msERD= 293" 2.m.crD= D

© -]
3.m-BRC = L}' q’ 4. m:.ARB ‘-‘13(, A
AN HSXHD +‘l§45 - é oo
0 o =2 =l20
5. m.arg-UH 6.m.BRD=|9) Aex 2oX=1972
X -

In OA, mLPAU = 40, L PAU = £ SAT, and £RAS = LTAU.
Find each measure.

7.mPQ = A0’ 8. mPr=180°

9. mST "LK)J 10.mRS =50

1. mesUSGO° (COTUOAS0) 1o marp=130° (YOTE0+UO)

13. mpPQs =250° (160+50) 14.mPRU 2520° (H0-40)
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